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⇤⇤���
Lq1

ds

=: I1 + I2

I1

I1  Cmax
ijk

Z
t/2

0
(t� s)

� 3
2 (

1
q1

� 1
p )�

1
2�

|↵|
2 (1 + t� s)

1
2�( 1

q1
� 1

p )
⇣��@xi(mj)(ml � m̃l)

��
Lq1

+
��@xi(mj � m̃j)m̃l

��
Lq1

⌘
ds

a(t)
(47) ↵ = 0 p1 p3 t � 1 t < 1

p

sup
|↵|k

sup
1p1

sup
0t<1

t
r↵,p(1 + t)`n,p,0+ˆ̀

k,p,↵I1  C

⇣
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ñ+ 1

�!

���
Z

|y|<
p
⌫t

y
�
f(y)

Z 1

0
(1� s)ñ@↵+�
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k
Z

R3
@
↵

xK⌫(x� y, t)f(y)�|y|�
p
⌫t
dyk

L̊
p
x(µ)

 (⌫t)
µ
2�

|↵|
2 + 3

2p

h
k
Z

R3
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k|ỹ|µf(
p
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⌫tỹ)|

h Z 1

0

���@↵+�

x̃
K1(x̃� sỹ)
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���  C(1 + |x̃|)ñ+1+|↵| exp[� |x̃� sỹ|2
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Z
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